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Skala 1:50:100  Lokalizacja: 1+472,00 Zn=114,46

Skala 1:50:100  Lokalizacja: 1 +459,00 Zn=114,63
Dtugos¢ linii humusu: Lewa

Skala 1:50:100  Lokalizacja: 1+441,50 Zn=114,42
Dtugos¢ linii humusu: Lewa

Skala 1:50:100  Lokalizacja: 1+422,00 Zn=113,74
Dtugos¢ linii humusu: Lewa
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Skala 1:50:100  Lokalizacja: 1+492,00 Zn=114,11

Dtugos¢ linii humusu: Lewa
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Skala 1:50:100  Lokalizacja: 1+517,00 Zn=113,89
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Skala 1:50:100  Lokalizacja: 1+ 625,00 Zn=112,27
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Skala 1:50:100  Lokalizacja: 1+ 632,00 Zn=112,16

Dtugos¢ linii humusu: Lewa
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Skala 1:50:100  Lokalizacja: 1+ 660,00 Zn=111,79
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Skala 1:50:100  Lokalizacja: 1+ 831,00 Zn=109,59

Dtugos¢ linii humusu: Lewa
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Skala 1:50:100  Lokalizacja: 1 + 842
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